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| Write down and simplify the first four terms in the expansion of (x +'——) " in descending
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‘(ﬁ - 1)5 is the reciprécau of(ﬁ +1)5. (N7é/ﬂ/7)

200x2
powers of x. Use your expansion to evaluate (1-005)° correct to five significant figures.

(73/P1/2) e
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Find the coefficient of x71¢ in the expansion of (xz - ;) . (spl/7)
The expansion df(l +px)", where n> 0, by the binomial theorem is 1 + 20x +45p°x% +
ke +... Calculate n, p and k. (J74/P2/5) ' '
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The expansion by the binomial theorem of <2x+ %) is 512x° + 576x® + ax” + bx + ...
Calculate (i) the numerical values of g and b, (ii) the coefficient of x” when the expansion of
(26-1)" is multiptied by 4x — 1. (N74/P1/3)

Write down the first four tenﬁs in the binomial expansion of (1 +x)". Find the values of x
for which the sum of the 2nd and 4th terms is equal to twice the 3rd term. (J75/P2/4)

. Write down the first three terms, in ascending powers ofx, in the binomial expansion of

(1-x 20 and hence find the value of (0-996)2°, correct to 4 significant figures. (N75/P1/4)
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. In the binomial expansion of (1 + %) , the second and third terms are equal. Calculate the

value of n. (J76/P1/3)

. Obtain the binomial expansion of (ﬁ + 1) in the form a2 +b, where a and b are

. : : , : 5
integers. State the corresponding result for the expansion of (ﬁ - 1) and show that
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(a) Write down and evaluate the middle term of the binomial expansion of (3 + 31—0) .

n
(b) The third term of the binomial expansion of (1 + %) is 6 times the second term.
Calculate the value of n. (J77/P2/7)
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Use the binomial theorem to evaluate (1 - ﬁ) correct to 5 decimal places. (N77/P2/3)
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